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Uaing disaion to detenmine aenes
(hoota, neol actutiona)

First, the Remainder Theorem
states...if the polynomial f(X) IS
divided by x -c, then the remainder
IS f(C).

.. You can evalute a function
using synthetic division. The
remainder Is the "y"/function value.



Use the remainder theorem to evaluate

f(X) = x3 -4x2 +5x +3 at f(2)




4 - The Factor Theorem
a2

If there is no remainder, then the divisor is a factor (or,

In the case of synthetic division, a "zero") of the
dividend.

Fxample- 21x=3| X+ — X-3
X+ (. 72 -3-Il b

. b}
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fthere is no remainder, then x+3 is There is no remainder so we

- know that 3 |
factor of x*+10x+2l and we know that WA

)06 3) =yl Dy 7) zero/root/solution to
SRS = 2x3-3x2-|l><+5 and that (x-3)

IS a factor of it.

\




Solve the equation 2x3-3x2-11x + 6 = 0 given that 3 is
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